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OlSE EXE 5,000 5,000 0
= 2,500
Al 2,500
301 EtE N = 5,000 5,000 0
= 2,500
Al 2,500
14 0Bt 243 5,000 5,000 0
OOrdESE FX RIZ At (500t2)
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== 2,500
Al 2,500
FolOtESE EIXIA 38,000 29,000 9,000
201 er23 | 36,000 24,000 12,000
01 At2teltl 36,000 24,000 12,000
ORoll ZHIS)| EIX =g S4(23])
30,000,000& 30,000
ORMNOIESE EIXl 25 7L (UHK, =F)
6,000,000& 6,000
301 22N = 2,000 5,000 23,000
14 JIEt2d = 2,000 5,000 23,000
OOIYS20) 218 XS DIt 24
2,000,000& 2,000
FollOf=sS HMoiEXE 2 33,750 26,250 7,500
201 et23| 5,250 5,750 A500
02 S3=gl 5,250 5,750 A500
OFOtESE 28l 2 Stz
130,000 *25CH 3,250
ORoliotdsSE & ¥ Xl 2 ZH|(ZE
£ Ed¥ . ¢4sD) |A&c]
2,000,000& 2,000
206 MH=HI 3,000 3,000
01 MZH| 3,000 3,000
ORFiotdsSE 7ol Hol
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301 LEetE N = 16,750 13,000 3,750
4Bt 23 16,750 13,000 3,750
ORMOIMESE L& HLAZ(2005)
13,000,000 13,000
OLISHI(ANES) 150,000 »25& 3,750
307 glztol & 8,750 7,500 1,250
06 2= 8,750 7,500 1,250
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350,000 %25 8,750
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Al 3,000
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3,352,000& 3,352
02 S3=gl 32,580 32,580 0
ORM& Z e SRl (200)
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7,240,000& 7,240
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St BaeA
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-2 ¥ 20/3EA R
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= 5,918
Al 15,788
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Al 15,788
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3,000,000& 3,000
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Al 17,850
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= 13,000
Al 17,850
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02 35244l 2,000 2,000 0
OdEf A et OrdAE EIXIAIE AIEEHI=
Aldl 2,000,000& 2,000
ME A mE OFMAIE EIXIAE (SH]) 26,000 26,000 0
= 13,000
Al 13,000
101 21AH| 26,000 26,000 0
= 13,000
Al 13,000
M ORNZZ2NSE S 26,000 26,000 0
OME A WEr OFEAE MHAEY IR (2,
5d) 26,000
-Jl== 2,276,010 «2H 63 22,761
= 11,380
Al 11,381
PN = S
87,1202 x2H+3 523
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= 2,576,012
[ 85,320
= 138,149
Al 2,192,787
e =% 80,954 83,532 N2,578
= 9,900
Al 71,004
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962,960,000 962,960
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= 1,901,200
Al 1,386,500
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= 12,798
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[ 6,428
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Al 60,000
402 2I2FX=201H 195,000 195,000 0
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02 QI EASEX(0IETHR) 6,000 10,000 24,000
OO0f&l0l S&fXHe LPGXH M & X2 (20H)
6.,000,000& 6,000
= 3,000
Al 3,000
UOIZNAIE FA2e] X3 10,600 0 10,600
= 3,720




A SEEsh
M HIeg 2
Rl HOIE JHE AL

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 6,880
307 gI2Hol M 10,600 0 10,600
T 3,720
Al 6,880
02 QIZHA A AL E & 10,600 0 10,600
OAIZE TIIISXIAIE SXI2el X2 (2002)
10,600,000 10,600
= 3,720
Al 6,880
OIMISHX BiE& RAF Y 2ZAl 2SR 22,410 22,020 390
101 2124 d| 22,010 21,620 390
M I1RIZ2Z2XsEs 22,010 21,620 390
OO0IMIZX BiE& A L 2ZAl J12HHI2&2
Xt S0 (Ae]) 11,005
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